. VCE & PDF https://www.pass4itsure.com/c6030-042.html
g 2024 Latest passditsure C6030-042 PDF and VCE dumps Download

PassditSure.com

C6030-0420%As

Developing with IBM Enterprise PL/I

Pass IBM C6030-042 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/c6030-042.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest C6030-042 Dumps | C6030-042 VCE Dumps | C6030-042 Study Guide 1/4


https://www.pass4itsure.com/c6030-042.html
https://www.pass4itsure.com/c6030-042.html
https://www.pass4itsure.com/c6030-042.html

. VCE & PDF https://www.pass4itsure.com/c6030-042.html
a 2024 Latest passditsure C6030-042 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

In a multithreading environment, when can a deadlock occur between two threads, if at all?
A. When both access the same memory area

B. When they are operating synchronously

C. When they have both locked a resource that the other one requires

D. It can neveroccur.

Correct Answer: C

QUESTION 2

Given the following declaration, how many bytes will be occupied by this structure under the default alignment rules?
DCL 1 A DIM (10), 2 B FIXED BIN (31), 2 C CHAR (1)VAR;

A. 70

B. 77

C.79

D. 80

Correct Answer: C

QUESTION 3

Given the following code, which call will pass a dummy argument?
PROG: PROC OPTIONS(MAIN);

DCL SUMO01 DEC FIXED(5,0) INIT (7);

DCL SUMO02 DEC FIXED(9,0) INIT (999);

CALL SUBA(SUMO1,

SUMO02);

CALL SUSB(SUMO01,

SUMO02);

CALL SUBC(SUMO01,

SUMO2);
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CALL SUBD(SUMO01,

SUMO02);

SUBA PROC( PRM1,

PRM2);

DCL PRM1 DEC FIXED (5,0) BYVALUE,
PRM2 DEC FIXED (9,0);

END SUBA,;

SUBB: PROC( PRM1,

PRM2);

DCL PRM1 DEC FIXED (5,0),
PRM2 DEC FIXED (9,0);

END SUBD;

SUBC: PROC( PRM 1,

PRM2);

DCL PRM1 BIN FIXED (15,0),
PRM2 DEC FIXED (9,0);

END SUBC;

SUBD: PROC( PRM 1,

PRM2);

DCL PRM1 DEC FIXED(5,0) BYADDR,
PRM2 DEC FIXED (9,0) SYADDP;
END SUBD;

END PROG;

A. Call to SUBA

B. Call to SUBB

C. Call to SUBC

D. Call to SUBD

Correct Answer: C
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QUESTION 4

A mainframe project is behind schedule and a project leader has only one copy of a PC-based PL/I compiler available
for distribution to team members who are all eager to use it. Optimally, to whom should it be provided first?

A. The person in the critical path

B. The person who does the most PL/I development
C. The person who makes the greatest demand

D. The project leader and her manager

Correct Answer: A

QUESTION 5

Which of the following characters may NOT be translated correctly when moving between code pages, character sets
and platforms?

A A
B. +
C.9
D. e

Correct Answer: D
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